Statistics

AT - 13 ST

*Measure of dispersion :- The degree to which the
individual values of the variate fall or scatter form
the average values is called dispersion.

Following are the measures of dispersion :-

(1) Range (ii) Quartile Deviation (iii) Mean -
Deviation (M.D.) (iv) Standard Devistion (S.D.)

*Range :- Range of a distribuation is the difference of
the maximum and the least value.

i.e. Range = Maximum value - Minimum value

*Mean Deviation :- The deviation of an observation x
from a fixed value 'a' is the difference x - a . The
sum of the deviation from mean (x) is zero.

- S f deviati 0
Mean of deviation = — o OLEEVIBUOL__ _ 2 _
Number of observation X

The mean deviation from 'a' is denoted by M.D.(a).

M.D.(a) = Sum of absolute values of deviation from'a'

Number of observations 4.

Let x X, X5 e x_be the given n observations.
Let x be the A.M. and M be the Median.
Then ,

(i) Mean deviation about mean is

n —
Z|Xi-x|

M.D.(x)= %

Where x = mean.

(i1) Mean - deviation about median is M.D.(M) 6.

n

Z|Xi-M|

= 'ZIT , Where M = Median.

*Variance and Standard - deviation:-

Mean of the squares of the deviations from mean 7

is called variance and is denoted by o2

The variance of n observations x x ,x,,x,........ X is
given by

o’ = %;(Xi';y . 8.

The positive square root of the variance is called
the standard - deviation and it is denoted by o.

o= 4/ %iznl:(Xi_;)z .

HefT-11 oI

Multiple Choice Questions
(98 fawcdia ueA)

What is the mean of the following data 1, 2, 3, 4, 5?
f=forRad eifwst 1,2, 3,4, 5 BT 71T T 87
(@ 5 (b 3

(c) 15 (@ 2

What is the mean of the following data 2, 4, 6?
fereferRad sifet 2, 4, 6 &1 AT T B°

(a) 2 (b) 6

(c) 4 (d 3

If the arithmatic mean of the variables 1, 3, 5, 6, x,
101s 6, thenx =?

afe =R 1,3, 5, 6,x, 10 BT TH=R AT 68 ol x=7?
(a 12 (b) 10

(c) 6 (d 11

The median of the following data 3,9,2,8,7, 1, 1,
4,5,6,6,2,9,7,8,4,6

frfeRad aifesi 3,9,2,8,7,1,1,4,5,6,6,2,9,
7,8, 4, 6T HITHT FT 27

(@ 1 (b 2

(c) 6 (d 4

The median of the data 5, 6,2,7,1,9, 4

o sffwet 5,6,2,7, 1,9, 4 BT A1fTHT 87

(a) 6 b 5

() 2 (d 4

The median of the following data 11, 3, 8, 7, 5, 14,
10, 2,9 is

o= affst 11, 3,8, 7, 5, 14, 10, 2, 9 BT AIfegHT 87
(a 8 b 7

(c) © (d 10

If varience 25 then standard deviation =

Ifg TRIROT 25 ® A AMd fagrer =

(a) 25 (b) 20

(¢) 10 d 5

Mean of the first n natural number is

U n Udhd A3 BT AT ©

-1 +1
@ "ol n erb
+1
b 5 @ 5
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9. Mean of the first 10 natural numbers is
U 10 Ypd AN & AR ®
(a) 11 (b) 10
(c) 55 d 6
10.  Mean of the first 10 multiples of 3 is
3% TIH 10 O BT AT ©
(a) 16.5 (b) 16
(d 175 (d 15
11. The mean decviation of n observations x ,x,,x.....x, 18
n Bl X X, x,,..x B 7 fage &
@ Zlx-x]
1 @ —
®  2lxex]
(c) |x,- +;|
i=1
(d) None of these(3TH I PIs o)
12. Themeandeviation about median of nobservations
R R x is
n 3BT X ,X,,....x DI HACIDI & HU&T HEd
IEECER
1 n
@ X|x-M] ®  2lx-M|
= i=1
n 1 n
© 2lxi+M]| &) p2lx+mi
i=1 i=1
13.  If number of observation is odd then median will
be
afe Yeront @ den fawd g a1 wifeget grm
(@) (n+ 1)" observation {(n+ 1) df UeToT}
' th )
(b) (né 1 ) observation {<nél ) g TieToT
th !
(©) (ngr 1 > observation {<1142r71) af yefor}
(c) None of these(ZTH A ®Ig o))
14.  Which of the following is centre of tendency
1 7 9 o9 = Uga
(a) Mean(HTe)
(b)  Median(HTEenT)
(¢) Mode(dgcid)
(d)  All of these(SUJa &)
15.  Which of the measure of dispersion ?
DI A yBIvE @ A ?
HaMT-11 ATIOTA)

16.

17.

18.

19.

20.

21.

(a) Range(UR¥R)
(b) Mean deviation (AT fd@e)
(c) Standard deviation (ATF& fagrer)

(d)  All of these (STad &)

Range of series =

FRIAT BT IRAR =
(a) Maximum value - Minimum value
(3AMDHTH A — =LATH A )
(b)  Minimum value - Maximum value
(gFITH A — AfTHdH A )
(¢) Maximum value + Minimum value
( SAfEDTH A + gATH JT )
(d) None of these(3TH H BIs &l |)
The mean deviation about the mean for the
following data 6, 7, 10, 12, 13,4, 8, 12 is
f=faRad effast 6, 7, 10, 12, 13,4, 8, 12 & forw
" ® AU "y fade ®
(a 2 (b 3
(c) 2.75 (d 3.5
Median of the following data 3, 9, 5, 3, 12, 10, 18,
4,7,19,21 is
fferRaa sifest 3,9, 5, 3, 12, 10, 18, 4, 7, 19,
21 &7 HIfeedT §
(@ 5 (b 3
(c 4 d 9
If the mean of the following data is 15, 17, x, 13,
7,18,9, 6, 14, 11 is 12 then value of x will be

gfe fo= sffdst 15, 17, x, 13,7, 18, 9, 6, 14, 11
BT e 122 Al x BT J4

(@ 12 () 10
(c) 11 (d 5

The mean of the following data 3, 6, 9, 12 is
o1 el 3, 6,9, 12 BT A ©

(a 12 b)) 9
() 6 (d 75

Relation between AM, GM, and HM is
AM, GM dm HM & &1 HeeT &

(a) GM > AM > HM
(b) HM > GM > AM
(c) AM > GM > HM
(d) GM > HM > AM
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22.

23.

24,

25.

26.

27.

HefT-11 oI

Relation among mean, median and mode is

AT, HIfeId!, U gl | waY B

(a) Mean + Mode =3(Mean — Median)
(AT + GgcID ) = 3( AR — HIeIhT )

(b) Mean - Mode =3(Mean — Median)

(AT — 98T ) = 3( HIEY — AT )
(c) Mean - Mode = 2(Mean - Median)

(AT — 9gcId ) = 2( HIEd — HIIHI )
(d) Mean - Mode = 2(Mean + Median)
(AT —dgeld ) =2( HEg + H STHT )

What is the mode of the numbers 2, 5, 7, 3,3, 6 ?

A&l 2, 5,7,3,3,6F 98D AT 27

(@ 2 by 3

(© 7 (d 6

What is the mode of the numbers 1, 1,2, 3,4, 3, 1,
2,1,3

|l 1,1,2,3,4,3,1,2, 1,3 6T 98d T 57
(@ 1 by 2

(© 3 (d 4

Which of the following is the arithmatic mean of
first n natural numbers ?

Yo n Tehdl AT 1 HATGR Areyg feferRad
q 9 B — 87

(a) ) (b) n
G

The arithmatic mean of 10 numbers is 20. If the

numbers are doubled , which of the following is  31.

the AM of the new numbers ?

10 3T BT FHIR AT 20 ® [ id HeT
A PR ST S, AT A5 AT BT FATR AT
frfaRad § & &9 —1 Brre?

(@ 1

(b) 40

(c) 20

(d) None of these(ZTH A BIg o))

The numbers 1, 2, 3, 4, 5, 6 have the weight 6, 5,
4, 3, 2, 1 respectively . Which of the following is
the weighted mean ?

J&N 1,2,3,4,5,6d 9R HA: 6, 5,4, 3,2, 1

g1 a1 s wiRa Ay faefaRaa § ¥ & 27
1"+2°+3°+4°+ 5"+ 6

@ 12931475+ 6

28.

29.

30.

32.

) 1.6+2.5+3.4
1+2+3+4+5+6
2(1.6 +2.5+3.4)
©  TT2+3+4+5+6
(d)  None of these(ZTH | BIg o))

The weighted mean of the first n natural numbers
whose weights are equal to the squares of the
corresponding numbers is

@ i+ Dn-1)
3n(2n+1)

(®) 2(2n+1)

© Lho+nen+1)

@ o+

The algebric sum of the deviations of n terms from
their arithmetic mean is

nUel bl FHOR q1eg W fa=rer=l &1 anT gidr 87

(@ n
(b) 1
() 0
(d) None of these(ZTH | BIg o)

Which of the following corresponds to the
intersection of "less than" and "more than" ogive?

"less than" Ud "more than" ogive & B&d fd=g
fFefaRaa 4 fae! garmm 2?

(a) Mean(HTeY)

(b)  Median(HTiETeT)

(c) Mode(dgcid)

(d) None of these@:lﬁ J Pls '_‘lff)

The standard deviation of 17 numbers is 0.Which
of the following is true ?

17 Aemell &1 "9 fa=er o 8 ar fa=forlRad &
T B I 27

(@)  The numbers are in G.P. whose common
ratio is not 1

A ol Al H § Rrer Ardgu 1@
R el 8

(b)  Eight numbers are positive , eight are
negative and one number is 0

IS ATV gHTHB, IS FUMHD Td T AT

0%

(c)  the mean of the numbers is 0
TRl T AT 0 ¢ |
(d) None of these(37TH & PIs o)

The daily wages (in Rs.) of 7 persons are 12, 7, 15,
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10, 19, 17, 25. The quartile deviation of the data is
7 afdqdl @ dfFe A9gRl (J/UAi H) 12, 7, 15,

10, 19, 17,25 2 | aifasl &1 aqeia fage & |

(a) 145 (b)) 5
() 9 (d 45
33. Therange of data 9, 8, 12, 80, 75, 45, 36, 72 is
aifael 9, 8, 12, 80, 75, 45, 36, 72 BT IR & —
a 9 (b) 80
(c) 72 (d 75
34.  The rage of the observation 2,3,5,9,8,7,6,5,7,
4, 31s
gArdHr 2,3,5,9,8,7,6,5,7,4,3 B RN & —
(a) 11 by 7
() 55 (d 6
35. Ifmean of 3,4,x,7,10, 6 , then the value of x is
afg 3,4,x,7,10, 6 BT AT 68, AT x BT A & —
(a) 4 b 5
(c) 6 (d 7
36. The mean value of the median and mean of the
odd divisors of 360 is
360 @ fauH favTSTdh! & AIfeSgdT SR AT &1 72y
A4 7 -
(a) 13 by 7
(c) 6 (d 10
37. The mean of 1% (n+1) natural numbers is
T (n+1) UTdd ARA &7 7 7
+2
@ 5
(n+t1)n+2)
b) ey
2
@ [porD 1)]
+ 1
@ 5
38, IEX XX e x, is the set of n observation whose
mean is X , then
IfE n rTelrdAl XXX e x DT AR x gar
@ E(x—x)=0
®  2(x—x)=0
i=1
(©) Z(xi—;) =0
i=1
@ D(x—xy=0
i=1
WHEMT-11 (ATOTE)

39.

40.

41.

42.

43.

44,

45.

46.

If the mean of numbers 27 + x, 31 + x, 89 + x,
107 + x, 156 + x, is 82, then the mean of 130 + x,
126 + x, 68 + x,50 + x, 1+ x1s

Ife st 27 + x, 31 + x, 89 + x, 107 + x,
156 + x T 917 828, aT 130 +x, 126 +x, 68 +x,
50+x, 1+x T 9T B

(@ 79 (b) 75

(c) 82 (d 80

Mean deviation of the data 6, 7, 10, 12, 13,4, 8,12
from the mean is

Jffwst 6,7, 10, 12, 13, 4, 8, 12 &1 ARY | ARy
fage & —

(a) 2.75 (b) 175

() 3 (d 2

Mean deviation of the data 2, 9, 9, 3, 6, 9, 4 from
the mean is

Jfel 2,9,9,3,6,9,4 H1 77T A 9127 fagaq &

(a) 223 (b)
(¢) 3.23 (d)
The mean deviation about the median for the data
11,3,8,7,5,14,10,2,91s

Jffwpst 11,3, 8,7, 5, 14, 10, 2, 9 BT #IfeTdT A
ey faee & —

(@ 3 b 2

(© 5 (d 4

The mean of five observations is 4 and their

variance is 5.2 .If three of them are 1,2,6 then
other two are

U STacldhAl Bl AT 42 TAT ST JaRv(fIer
AYTH ) 5.2 B, e 399 | A9 SmaatdT 12,68
ar g a1 §

(@ 2,9 (b)
() 5,6 (d)
The mean of first 10 multiples of 3 is

3% UIH 10 UMD HT AT &
(a) 155 (b)
(c) 165 (d)
The variance of first 10 multiples of 3 is
3% Y 10 UPI BT YARI & —

(a) 70.15 (b)  74.15
() 73.15 ()  74.25

The standard - deviation of first 10 multiples of 3
is

2.57
3.57

2,10

17.5
18.5
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3% YoE 10 UIP! BT AMD — fdge & —

(a) 8.61 (b) 821
(¢) 851 (d 8.31
47. For a frequancy distribution , the mean deviation
about mean is givem by
fsfl sRaRar fadqrer @ forw |, wrw | ARy —
fage™ &1 714 BT ® —
>ldil >fldi
@ 3y ® T3y
2 fid; 2f;
©  “Ff @ Tgla]
48. Variance of the data 2, 4, 5, 6, 8, 17 is 23.33. Then
variance of 4, 8, 10, 12, 16, 34 will be
afe sifdsl 2,4, 5, 6,8, 17 T TR 23.33 8
4,8, 10, 12, 16, 34 &1 JAROT BT
(a) 23.33 (b) 25.33
(¢) 93.32 (d) 48.66
49.  The standard deviation of a distribuation is 30 and
each term is raised by 3 , then new S.D. is
Ife v faavor &1 q99eb — fage= 30 8, der
A% Ug § 3 Pl gfg 8 Sl & dl 77 AFD —
e g
(a) 32
(b) 28
(c) 27
(d) None of these(3TH | BIg o)
50. S.D. of the data(3if&<l T S.D. ®)
X, 3 8 13 18 23
f 7 10 15 10 6
(a) 6.12 (b) 5.12
(¢) 3.12 (@ 7.12
51. The standard deviation of the numbers 31, 32, 33,
.46, 47 is
TRt 31, 32, 33, ...46, 47 &1 796 — fadele
g -
/17 47° —1
(a) 12 (b) 12
(© 2/6 d)  4/3
52. Ifthe variance of 1, 2, 3, ...... 10 is % , then the
standard - deviation of 3, 6, 9,................. 30 is
A 1,2,3, . 10FT R 2 F 73,6,
Q.. 30 BT AP — fage= &
297 3
@ = b 5v33
WHEMT-11 (ATOTE)

53.

54.

55.

56.

57.

58.

59.

© 379 @ Vi

The frequeny distribution table is given here

TP IRIRAT — faaRor ARl A &7 7 & —

C.L 1-10 | 11-20 | 21-30 | 31-40 | 41-50 | 51-60
Frequency | 11 29 18 4 5 3
Find the mean (A& ST )
(a) 225 (b)) 215
(c) 235 (d) 245
Find the varience (JRIROT STd &)
(a) 163.53 (b) 164.25
(c) 16221 (c) 1lo6l.14
Find the standard deviation ( #1Fi& — fa@rer= =id
)
(a) 12.7 (b 137
(c) 147 (d) 117

Themean and standard deviation of 100 observation
were calculated as 40 and 5.1 respectively by a
student who took by mistake 50 instead of 40 for
one observation .

Udh ©WIA gIkT 100 3[TATDAI BT HIEY 3ﬁ7\’ HI D
— T A 40 SR 5.1 0 fban Tam uR=g
S Tl A 3MBST 40 B SHTE 50 BT TATT B
fear o, ar

Find the correct mean (F&! ATY ST H¥)—

(a 389 (b) 379

(¢) 399 (d 369

Find the correct standard deviation

(T8 A6 — fage sa de)—

(a) 4 (b) 6

() 3 d 5

Find the varience of the following data 6, 8, 10,
12, 14, 16, 18, 20, 22, 24

fferRaa sifest 6, 8, 10, 12, 14, 16, 18, 20, 22,
24 BT YR 1T BN

(a) 33 (b) 30

(c) 32 (d 35

Mean deviation for n observation x , x, .... x_from
their mean x is given by

n ATADAN x, X, ... x_ DI Hed —fderer, A A
x fer smar & -

@ Z(x—x) ® 2 (xx)
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© Y-x) @ $2-x)

60. Letx,x,, x,....... , x, be n observations and x be

their arithmetic mean. The formula for the standard
- deviation is given by

Fﬂ—rﬂﬁ?xl,xz,x} ....... ,xn,niﬂﬁlﬂaﬁﬂ %\'HQJT X
IADT AR AeF § , Al Ad — [dere &1 g

fear <mar € —
@ X(x—x) (b) 72(’;_)()

.__2 2i+_2
(©) \/—(X‘n” (d) \/LXH =

61. Standard deviation for first 10 natural numbers is

U 10 YT W18 BT AFD — faded § —
(a) 5.5 (b) 3.87
(c) 297 d) 2.87

Very Short Answer Type Questions
(erfa org S yw)

Find the mean of the following data.

frforRad sifrel &1 |1 e |

L. 2,4,6,8,10

2. 1,2,3,4,5,6

3. 3,69, 12,15,18
4. 7,10,3,4

5. 11,3,2,1,5,8
6. 20,40, 60,30, 10

Find the median of the following data.

fr=forRad sifas &1 AfSIdT Hdred |

7. 1,2,3

8. 2,1,4,6,3,1
9. 1,5,4,3

10. 2,7,9,6

1. 9,8,3,1,6,4,3

12. 2,4,1,1,3,7,6
Short Answer Type Questions
(crg, S uw)

Find the mean deviation about the mean for the following

HefT-11 oI

data.

frfeRad sifesl & forv Ay & |mer drey ooy
Ad BN |

1. 3,9,2,8
2. 4,3,2,1,6
3. 2,4,6,6

4. 3,1,4,2,6,2

Find the mean deviation about the median for the
following data.

frfeRad sifeel & AMfSgdT & AMel Ay faoeq
1T N |

3,9,2,8,7,1,7,7,3
11,3,8,7,5,14,10,2,9
4,2,6,5
1,5,3,4,3,2
Find the mean for the data 4, 7, 8,9, 10, 12, 13, 17
fo oifesi 4, 7, 8, 9, 10, 12, 13, 17H1 ARY
AT B |
10.  Find the mean for the data

ferferRad sifest & forg A S Y |
5 10 15 20 25
JA 7 4 6 3 5

o X =N a

11.  Find the median for the data 13, 17, 16, 14, 11, 13,
10, 16, 11, 18, 12, 17
frfeRaa sifeel @ forg wifeaer Sd & |

12.  Find the median for the data
fa=forRad sifest & foru ArfeasdT sira &Y |

5 7 9 10 12 15
A 8 6 2 2 2 6

Long Answer Type Questions
(el S8 ueA)

1. Find the mean deviation about the mean for the
data4,7,8,9,10,12,13,17

1 3Tl 4,7,8,9,10,12, 13, 17 & forw A1y
& el ey fAaad 3id By |

2. Find the mean deviation about the mean for the
data 13,17, 16, 14, 11, 13, 10, 16, 11, 18, 12, 17

e aifest 13,17, 16, 14, 11, 13, 10, 16, 11, 18,

FMEIRA. — yea I6-FE-30 Teas e Aawor & (2024)
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12,17 & foru wifSasr & amuer arey fdae s —_ 1+2+3+4+5+6

’ Mean , x =
™ (=) 27 =35 A
3.  Find the mean deviation about the mean for the 6 2 7 1S
data N
_ 3. Given data ( f&T 7 3ff®s ):- 3, 6,9, 12, 15,18
1 effrsl & folw W & |y A faere e
ST B |
— 34+6+9+12+15+18
X, 5 10 15 20 25 Mean , x = 6
7 7 4 6 3 5 () 63 1
=6 T 2 =10.5 Ans.
4. Find the mean deviation about the median for the
data 4. Data(3ff@S ):-7,10,3, 4
w1 sifepsl & foru wfSasT & amer Ay e N4
ST BN |
— 7+10+3+4
x, 5 7 9 10 12 15 Mean , x = —— 47—
f 8 6 2 2 2 6 GL)) 24
= =6 Ans.
Multipule Choice Question . W
( agR@eda get @ SR ) 5. Data( 3ifes ):-11,3,2,1,5,8
n==6
1. b 2. C 3. d 4. ¢ 5. b
- +34+2+14+5+
6. a 7. d 8. b 9. ¢ 10. a Mean,X:11 3 261 518
1. b 12. b 13. ¢ 14 d 15 d (Fre) 30
16. a 17. ¢ 18. d 19. b 20. d =6 =5 Ans.
21. ¢ 22. b 23. b 24. a 25. a
26 b 27. ¢ 28.d 29. ¢ 30. b 6.  Dtata (3ifds ):- 20, 40, 60, 30, 10
31.  d 32. d 33. ¢ 34. b 35. ¢ B
3. d 37. a 38 ¢ 39 b 40 a n=>3
41. b 42. a 43. b 44. ¢ 45. d M —_20+40+60+30+10
ean , x =
46. a 47. b 48. ¢ 49.d 50. a ) 5
5. ¢ 52. b 53 b 54 d 55 a :@ — 1 Ans.
56. ¢ 57. d 58. a 59. b 60. ¢
61 d 7. Data (3ff&s )-1,2,3
Very Short Answer Type Questions Increasing order of data 1. 2. 3
(fay org ST ye) & o
fag v i@t &1 9 HH 1,2, 3
1.  Given data ( QT Y 3ffes ):- 2,4, 6,8, 10 n=3 (odd) (frsm)
n=>5
Iy — 24+4+6+8+10 Median(ATfE®)
ean, x = 5 Y
(HTW) 30 M=<n2 >observation
=5 = 6 Ans "
_(3+1 .
—<T> observation
- . — ~nd . —
2. Given data (Y 7Y aifee )-1,2,3,4, 5, 6 2" observation =2 Ans
n==6 8.  Data(3ifds ):-2,1,4,6,3,1
Increasing order of data
HET-11 (TFOTeD) FHEIRA. — e I6-wg-300 Teas e Aaor & (2024)
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faq v sifdpsl @1 g5 HH
1,1,2,3,4,6 , n=6(even)(dH)
Median (ATEIHT)

1

th
M= > ) observation]

th
(%) observation + (% +1

= %[3“i observation + 4™ observation |

_1
= 2[z+3]
:% =25 Ans.

9.  Data (3ff#s ):-1,5,4,3
Increasing order of data
fag g sifpst o1 ged B
1,3,4,5 , n=4 (even) ({H)
Median (ATfEgaT)

1

4 th 4 th
M= 7[<7> observation + <7 + 1> observation

Median (A1)

_(n+1
M= ( 2
= 4" observation

=4 Ans.

th
) observation

12. Data(3ff®s ):-2,4,1,1,3,7,6

Increasing order of data

fag Tq sifmsl @1 95d B

1,1,2,3,4,6,7 , n=7(odd) (fawH)

Median (A1)

M = 4% observation

=3 Ans.

Short Answer Type Questions

(crg S 9)

1.  Given data ( QT Y 3ffas ),

X:3,9,2,8
= %[2“d observation + 3" observation | n=4
1 — 3+9+2+
27[34'4] Mean,xz3 942 8
7 GL)) -
=5 = 35 Ans. =4 =55
10. Data (3ff®S ):-2,7,9,6
Increasing order of data X X- X |x x|
o . 3 -2.5 2.5
fag Ty sifest @1 987 A
\ ' 9 3.5 3.5
2,6,7,9 , n=4(even) () 2 -35 3.5
Median (sfearen) 8 2.5 2.3
1 Ylxi—x|=12
M = 52" observation + 3" observation] S
MD(x)= ="+
= 2l6+7] n
13 = % =3 Ans.
=5 =6.5 Ans.
2. Given data ( QU 717 3ifws ):-
11. Data(3if#< ):-9,8,3,1,6,4,3 x:4,3,2,1,6
Increasing order of data n=>5
fag Ty sffmel BT ged B Mean , x =422 1E0
()
1,3,3,4,6,8,9 ,n=7(odd) (fawH) :% —35
HE{T-11 (TOTA) 768) FAEIRA. - weaT TF-we-3 [Fas s RAawor g (2024)
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X; X- X |xr;|
x -3.2
4 0.8 0.8
3 -0.2 0.2
2 -1.2 1.2
1 2.2 2.2
6 2.8 2.8
Ylx—x|=72
MD () = Zlx=xl
n
=72 =144 Ans.
Given data( faU 77 2ffde ),
X:2,4,6,6
n=4
Mean , x = %ﬂ
(sre)
=18 s
4 )
X X, - X |xi*;|
x -4.5
2 -2.5 2.5
4 -0.5 0.5
6 1.5 1.5
6 1.5 1.5
Zl Xi _; | =6
MD () = Zlx=xl
n
=& =3-15 Ans
Given data( faQ 77 2ifde ),
x:3,1,4,2,6,2
n==6
—_3+1+4+2+6+2
Mean ,x = 6
(sme)
= ﬁ =3
6
WHEMT-11 (ATOTE)

% xi_; |Xif;|
x -3
3 0 0
1 -2 2
4 1 1
2 -1 1
6 3 3
2 -1 1
Z'Xi_;|: 8
MD(?)=—Z|X‘H_X|
=% =% Ans.

5. Given data (ﬁ(’ Ry Sﬁ—cr@_'),
3,9,2,8,7,1,7,7,3
Ascending order of given data

fag g sifpsi o1 ged P9
x:1,2,3,3,7,7,7,8,9
n =9 (odd) (fay")

Median (AT(EgHT),
th
M= ( L ; I ) observation (JeToT)
= 5" observation (SreTon)
=17
X, x-M x-M |
x -7
1 -6 6
2 -5 5
3 4 4
3 4 4
7 0 0
7 0 0
7 0 0
8 1 1
9 2 2
Dlx—M|=22
— Z' xi—M |
MD(x) = &M
22

=79 =24 Ans.
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Given data( fQU 7T aifes ), X, x-M |x-M|
11,3,8,7,5,14,10,2,9 x -4.5
Ascendi dor of siven d 2 -2.5 2.5
scending (?r er of given data 4 05 0.5
fau Tq sifwsl &1 g0 HA 5 0.5 0.5
x:2,3,5,7,8,9,10,11, 14 6 1.5 1.5
n =9 (odd)(Rrw) 2lx—M|=5
. i M
Median (ATfeIT), MD(M) = Z| xIl |
_ n + 1 )th .
M < ) observation _ % — 195  Ans.
= 5" observation _
-3 8. Given data( fag 17 @ifds ),
Vi 1,5,3,4,3,2
Y i . |x-M| Ascending order of given data
X. - o <
5 v p f&q 1Y sifbel b1 g5 B
3 5 5 x:1,2,3,3,4,5
5 3 3 n =6 (even) (FH)
7 -1 1 Median (AT(EgT),
th th
3 (1) (1) M= %[(%) observation + <% + 1) observation]
10 2 2 = 15[3rd observation + 4™ observation]
11 3 3 ]
14 6 6 =5[3+3]
Zlxi=M|=27 =0=3
_ x—M X, x.-M o
MD(X)=¥ i x1_3 |X1 M|
S 29—7 =3 Ans. 1 2 2
_ 2 -1 1
Given data( faU Y 3ff@s ), 3 0 0
4,2,6,5 3 0 0
Ascending order of given data 4 1 1
fag Y sfiwsi ®T 98 HH 5 2 2
x:2,4,5,6 2lx—Ml=6
n =4 (even) (dH) M
Median (ATEIPT), n
1 n th ) n th ) :% =1 Ans.
M= 5[(7> observation + (7 + 1> observatlon]
1 9. We have given data :- 4, 7, 8,9, 10, 12, 13, 17
= 5[2“d observation + 3™ observation | )
1 - Zx
- 7[4 +51 - Mean = X = 5 F observation
=2 =45 x=1¥
— 5 =4. = X ] i:lXi
WHEMT-11 (ATOTE) FMEIRE. — T IF-Hg-3R [eas fnyed AT a4 (2024)
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10.

I1.

12.

HefT-11 oI

:%(4+7+8+9+10+12+13+17)

=1§><80
~ x=10
We have,
15 20 25
f:7 4 6 3 5

xf:35 40 90 60 125

x:5 10

s
Now, N= ; f
=25
and é fxi =350
Mean =

hence,

— 1 5
NG

=1
=55 X350

Sx=14
We have given data
13,17, 16, 14, 11, 13, 10, 16, 11, 18, 12, 17

In ascending order
10, 11, 11, 12, 13,13, 14, 16, 16, 17, 17, 18

.. Median = %[6“1 observation + 7" observation |

=17[13+14]
_ 27
5 =135
from the given data let us construct a table as
x:5 7 9 10 12 15
f:8 6 2 2 2 6
cf:8 14 16 18 20 26

6
clearly N = ; f =26 (even)

Median will be the mean of 13™ and 14"
observations. Both of these observations lie
in the cumulative frequency of 14 for which
corresponding observations is 7

.. Median = %[13‘h observation + 14™observation |

14
[7+7] 5 =1

2.

Long Answer Type Questions
(el o geA)

We have given data

4,7,8,9,10,12,13,17

-. Mean 8><Zx1
_ 80 _
= ;}:10

So the corresponding mean deviation i.e.(xi — x )
are

(4 -10), (7- 10), (8 - 10), (9 - 10), (10 - 10), (12 - 10),
(13 - 10), (17 - 10)

ie.-6,-3,-2,-1,0,2,3,7
.". absolute values of deviations are

6,3,2,1,0,2,3and 7

8 A
'._§|xi—x|=24

8 .
Hence, Mean — deviation(M.D.) = % X ; | x— x|

_ 24

We have given data as,
13,17, 16, 14, 11, 13, 10, 16, 11, 18, 12, 17
In ascending order

10, 11, 11, 12, 13, 13, 14, 16, 16, 17,17, 18
Median = 15[6“1 observation + 7" observation |
= %[13 +14]= 277 =135

So the absolute values of the respective deviations
corresponding to median i.e.,| x;— M| are

3.5,2.5,2.5,1.5,05,0.5,0.5,2.5,2.5,3.5,3.5,4.5

12
S lx—M|=28
i=1

hence, Mean deviation about median =

M—§Z|xl M |

28

=>M= 12_233
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3. Let us construct the table

X; f1 flxi |Xi_;| f|xi_;|

5 7 35 9 63
10 4 40 4 16
15 6 90 1 6
20 3 60 6 18
25 5 125 11 55

> 25 350 158

5
clearly , N = ; f
=N=25
5
3 fx =350
J— 5
We know that mean(x ) = %; fxi
-1
=x=14
5 _
also, ; flxi—x]=158
. 13 —
.. Mean deviation = W; flxi—x|
=1 X 158
25
=6.32

hence,

Mean deviation about median

1 6
zﬁx;ﬁlxi—Ml

‘ -

X 84

o

6
23  Ans

98]

4. From the given data let us construct the table—>

x| cf |lx—M]|| flx—M|
5 8 8 2 16
71 6 14 0 0
9 2 16 2 4
0| 2 18 3 6
2] 2 20 5 10
5] 6 26 8 48
s | 26 84

6
clearly ,N = ; f
= 26(even)

Median = %[13“‘ observation + 14™observation |

* Both observation lie in the cumulative
frequency of 14 for which corresponding
observation is 7

.. Median = %[7 +7]

HefT-11 oI

1

=5 %14=7
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